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Please answer the following questions on answer sheets
A. Consider the following model (30%)

Lucas supply curve:

AYt :ax(pt_p:)_{_sl,t (1)
Aggregate demand curve: '

Ayt =bx (mt - pt) + 82,t (2)
Monetary rule:

m =m+eg,, A3)

where, y, p and m are outpuf, price level and money supply. p; =E(p, |I,_,) in which E(.|.) is the
conditional expectation operator and I, is the information set at time t-1. Ay, =y, —,_,. aand b are
parameters, and m is the mean of m,. g, €,, and ¢_, are disturbances which are identically and

independently distributed.

(1) Please derive the effect of an expected monetary increase on price level and output. (10%).

(2) Please derive the effect of an unexpected monetary increase on price level and output. (10%).

(3) What is the policy ineffectiveness argument? Does the above model support the policy
ineffectiveness argument? (10%).

B. Solow Growth model: (40%)

Y=C+],
Y=F(L,K), , >0>Fy, B >0>Fq, limF =limF, =0, limF, = limF =0,

F is a constant return to scale production function.

K=I-8K,

S=ay,

L=nL,

where, F;, j=K,L is the partial derivative of F with respect to j and F; is the partial derivative of F; with
respectto]. Y, K, L, T and S are output, capital, labor, investment and saving, respectively. F(.), a, n and
& are the production function, the saving rate, the labor growth rate and the depreciation rate,
respectively.

(1) Please derive the condition for determining the steady state capital stock (10%)

(2) Given that the production function is Cob-Douglas (AK*L™®), please solve for the steady state
capital stock (5%).

(3) Please derive the condition for determining the golden rule capital stock (10%)

(4) Given that the production function is Cob-Douglas (AK“L'™), please solve for the golden rule capita
stock (5% : :

(5) What gs th)e dynamic inefficiency? Does the Solow model appear dynamic inefficiency? Why? (10%)
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C. Please explain the following (30%)

1. permanent income hypothesis (6%)
2. Lucas critique (6%)

3. long-run Phillips curve (6%)

4. uncovered interest parity (6%)

5. open market operation (6%)




